TR (AR RER SR

|A =5

| smazhdt)ifRgERE

OLRER, WHERRE

BEEENE AR
W 5MEE
[— M —

1 a \ ®mF
e @@ a8 @Q
T T
. i
1A6-250~400
1A8-300~400

1A8-450

W SMER

s N (RER)  diM

A5 | IA5-200 | 200 | 70 | 82563|1048 | 50 | 15 75 | 30 | 30 | 10 | 885 | 17 |MIOX756 | 4
IAG 250 | 250 | 77 |106375]1334| 55 | 17 90 |30 | 35 | 10 | 445 [ 17 |Miaxs0 | 4
IAG 300 | 300 | 90 |106375|1334| 65 | 17 | 100 | 35 | 40 | 12 | 53 | 19 | Mi2x95 | 4
IAG 350 | 350 | 90 |106375]1334| 75 | 17 | 110 | 85 | 45 | 12 | 53 | 19 | Mi2x95 | 4

A=-8 735400 | 400 | 100 |106:875]1334 | 756 | 17 | 120 | 40 | 60 | 14 | 685 | 17 | Mi2xi00| 4
IAG 450 | 450 | 105 [106375|1334| 80 | 17 | 130 | 40 | 556 | 14 | 635 | 20 | Mi2x110| 8
IA6 500 | 500 | 109 |106:375|1334 | 90 | 17 | 140 | 40 | 60 | 14 | 635 | 16 | Mi2x110| 8
IAB-300 | 300 | 100 |139.719|1714| 75 | 185 | 120 | 40 | 50 | 14 | 585 | 24 | M16x105 | 4
A8 -350 | 850 | 100 |139.719|1714| 75 | 185 | 120 | 40 | 50 | 14 | 585 | 24 | M16x105 | 4
IAB 400 | 400 | 105 [139.719 1714 | 90 | 185 | 120 | 40 | 50 | 14 | 585 | 24 | M16x110| 4

A-8 | IAB-450 | 450 | 105 |139.719|1714 | 100 | 1856 | 130 | 40 | 65 | 14 | 635 | 24 | MIex110| 4
IAB-500 | 500 | 112 (1397191714 | 110 | 185 | 140 | 45 | 60 | 14 | 585 | 22 | M16x115| 8
IAB 550 | 550 | 110 |139.719|1714| 110 | 185 | 150 | 45 | 65 | 14 | 565 | 24 | M16x115 | 8
IAB 610 | 610 | 120 |139.719 1714 | 120 | 185 | 160 | 50 | 70 | 15 | 655 | 24 | M16x125 | 8
IA11-500 | 500 | 130 |196.869]235 | 110 | 22 | 140 | 45 | 76 | 14 | 678 | 315 | M20x140| 8
IAT1-550 | 550 | 130 |196:869]235 | 110 | 20 | 155 | 45 | 76 | 14 | 678 | 315 | M20x140| 8

A="11 A77610 | 610 | 140 |196869|235 | 120 | 20 | 170 | 50 | 80 | 16 | 76 | 315 | M20x150 | 8
IAT1-710 | 710 | 146 |196.869]235 | 130 | 20 | 190 | 55 | 85 | 19 | 73 | 29 | M20x150| 8

W ARG s1a-6-4505000 LR S MZ R B E AR
BASE = B ILIRIES SAIEIER BMNTER o

REFLE " AT R e S —

Highes B mm Xt LﬂNt(HI?;)gj] AMgmm  5Memm  AMemm %zgrrﬂg L
A5 | IA5-200 | 50 | 830( 85)| 10.0(1020) 75 185 14 14.9 0.080 3600
A6 250 | 55 |1180(120) ] 15.0(1530) % 220 14 p4p 0.188 3000
IA6-300 | 65 |1470(150) | 160(1632) 125 265 18 39.1 0400 2000
ro. | JAB850 |75 [1470(150) ] 160(1632) 156 310 20 50.9 0.750 2000
IAB 400 | 75 |2160(220) | 20.0(2039) 190 360 30 69.8 1175 1800
IA6-450 | 80 |2450(250) | 230(2345) | 220 205 35 972 1775 1200
IAG 500 | 90 |2450(250) | 230(2345) | 250 450 40 1035 3.380 1200
IAB-300 | 75 |1470(150) | 16.0(1632) 125 265 18 39,1 0.400 2000
AB-350 | 75 |2160(220) | 20.0(2039) 156 310 20 56.2 0775 2000
A8 400 | 90 |2450(250) | 23.0(2345) 190 360 30 738 1250 1800
A-8 | IAB-450 | 100 | 2450(250) | 230(2345) | 220 205 35 1025 1825 1200
IAB 500 | 110 | 2450(250) | 230(2345) | 250 450 20 108.4 3560 1200
IAB-550 | 110 | 2450(250) | 230(2345) | 290 500 40 1230 4005 1200
IAB-610 | 120 |2750(280) | 230(2345) | 320 550 20 136.0 5700 1100
IAT1-500 | 110 | 2160(22.0) | 19.0(1937) | 250 250 20 1300 4005 1200
IAT1-550 | 110 | 2160(22.0) | 190(1937) | 290 500 20 1450 2725 1700
A1l TA775610 | 120 | 2750(280) | 23.0(2345) | 320 550 40 204.0 8625 900
IAT1-710 | 130 | 392.0(40.0) | 30.0(3059) | _ 385 650 45 5570 | 15000 800






